Theory of Indices
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1 MARK QUESTIONS
 Simplify: (7°) +(5°). 2. simpiify: (3)+(5°)
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2 MARKS QUESTIONS
(Understanding)
S. 1 . 2n+1+2n—1 2 S 1 . 3n—1 +3n+2
. Simplify: e . Simplify: EUETEN
. Simplify: 44" 4. Simplify: 28"
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BASIC MATHEMATICS
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Simplify: 2(3 )+(Z] +3° 10. Simplify: T

3 MARKS QUESTIONS

a+b 4 ¢ b+c b-a cta e=b
. Prove that xb X X P =1.
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. lmplfy xc : xa : xb :

. Ifar=8"=c¢"and b*> = ac show that —+ - ==,
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Ifa*=b, b =c, ¢ = a show that xyz = 1.
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. Simplify: ey
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If *=m=n =p” and Im = np show that —+—=—+—.
Xy z w

If 9° = 57 = 457 show that z(x + y) = xy.
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CIf 22 =17% :(68)5 show that 2a + b = c.
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Ifa=5b=5, c=5%and ab = ¢* prove that x + y = 2z
Ifa*=bc, ¥ =caand ¢ = ab show that xyz=x+y+z + 2.
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If abe = 1, th h *
abe = 1, then prove that lva+b’ 14btc! ltcta’l
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Show that ZH,— =1.
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If x3+y3+ 2% =0, then show that (x + y + z)* = 27xyz.
2
If a® +b3 +¢=0 then show that (a + b2 + ¢3)* = 27ab?c.
1 1
If x=4°+4 3 prove that x* — 12x — 17 =0.
Solve for x: 2> - 6.2*+8 =0.
Solve for y: 5.5% - 26.5+5=0.
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